
PARTS CATALOG
Vol. 3.1 March, 2023

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123



Tufway  |  Major Assembly

Tufway  |  Vent Screen 70’s to 1996 Tufway  |  Vent Screen 1991 to 2012

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



ITEM # PART # QPU DESCRIPTION COMMENTS
1 10034 1 Base Assy- Impact Solid Floor

10033 1 Base Assy- Impact Grid Floor

10032 Cover- Floor Impact Base 8 #22727 & 8 #11360

2 16050 2 Corner Molding II- Black Punch

3 See Chart 1 Front Assy- Tufway 

4 See Chart 3 Panel- Tufway

22748 Hdwe- Tufway 3 Roll Pop Rivet

5 22209 1 Hood- Papergrd 3 Roll Dgry

17082 Hood- Paperguard 2 Roll

6 16045 1 Roof- Tufway Dome

7 10570 1 Seat- Toilet Tuf/Fre/Lib Black Includes Hardware - 10 per Case

19196 Kit- T/Seat 2-1/2 Bolt/Nut Set

8 10553 1 Tank- Tufway Dgry

9 14119 1 Urinal- Standover Dgry

10 14133 1 Vent Pipe- 4 X 63 Dgry With Urinal

11946 1 Vent Pipe- 4 X 68 Dgry Without Urinal

11 14767 1 Latch- Restroom Plastic

12 11030 16 Rivet- #66 Aal Pop

10629 32 Rivet- Solid Short (flat) Push Cap Rivets

13 22737 12 Rivet- #66 Pop W/Rubber Washer

18721 12 Rivet- Solid Short Flat W/Wshr Push Cap Rivets

14 11054 22 Rivet- #68 Aal Pop

10801 6 Rivet- Solid Long (dome) Push Cap Rivets

15 22738 6 Rivet- #68 Pop W/Rubber Washer

18722 6 Rivet- Solid Long Dome W/Wshr Push Cap Rivets

16 10122 4 Screw- #10 X 3/4 Phpn Tap Pltd

17 13860 30 Screw- #14 X 1- 1/2 W/Wsh Gold

18 22310 1 Spindle- Prgrd II 3 Roll Metal

16844 1 Spindle- Paperguard 2 Roll Mtl

18696 1 Spindle- Pg 3 Roll Pvc 16 Inch

19 11315 56 Washer- 3/16 Rivet Stnls

10047 56 Push Cap- 3/16 Id Push Cap Rivets

20 14311 6 Screen- 3 X 13 PLStc Vent Older Panels

21 15337 12 Rivet- .195in Plastic Expandng

22 14112 6 Screen- 3.8 X 15.25 Plstc Vent

18191 1 Nut- 5/16 Serrated Flange Roto Base Only

13173 1 Bolt- 5/16 X 3- 1/2 Hwhd Roto Base Only

22384 6 Bolt- 1/4-20x1-1/4 Dog Pnt Wsh Blow Mold Base Only

10900 Instruction- Tufway See Website

Tufway  |  Major Assembly Parts

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



Tufway  |  Front Assembly

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



ITEM # PART # QPU DESCRIPTION COMMENTS
1 1 Facing- Tufway Hasp

2 1 Facing- Tufway Hinge

3 1 Door- Tufway

See Chart Front Assy- Tufway

4 10889 1 Bracket- Cable Anchor Tufway Hinge Side

5 10511 1 Bracket- Spring Anchor Tufway Door

6 10888 1 Closure Assy- Tufway Door

11954 Kit- Tufway Spring Closure Rpl Include Spring & Rivets

7 13415 1 Cover- Indicator Black

8 13197 1 Hasp- 3/16 Rivet Hole Door

9 13199 1 Hasp- 3/16 Rivet Hole Facing Long

10 13266 3 Hinge- Door Stnls Round Corner

11 10891 1 Hook- Flat Coat Stnls

12 15630 1 Indicator- Universal Dgry

13 10161 1 Plug- 1/2 Indicator Black PLSt

14 14803 1 Plug- 3/8 Hole

15 12393 4 Rivet- #64 Aap Pop

16 11270 16 Rivet- #68 Stnls

17 10812 5 Rivet- #612 Alum

18 10804 4 Screw- #8 X 3/4 Phpn Tap

19 12007 1 Screw- #10 X 1- 1/4 Pn Ph Tap

20 11315 21 Washer- 3/16 Rivet Stnls

PART # DESCRIPTION
12613 Panel- Tufway Aqua

12614 Panel- Tufway Sand

13598 Panel- Tufway Lgry

13938 Panel- Tufway Rblu

14702 Panel- Tufway Orng

14794 Panel- Tufway Frst

16542 Panel- Tufway Yell

16643 Panel- Tufway Dgry

19266 Panel- Tufway Red

22693 Panel- Tufway Pp Dblu

23137 Panel- Tufway Pink

24118 Panel- Tufway Prpl

24339 Panel- Tufway Ylgr

12611 Panel- Tufway Green

Tufway  |  Front Assembly Parts

Tufway  |  Complete Front Assembly Tufway  |  Panel

PART # DESCRIPTION
10521 Front Assy- Tufway Brwn

12728 Front Assy- Tufway Sand

13816 Front Assy- Tufway Aqua

13936 Front Assy- Tufway Rblu

14129 Front Assy- Tufway Orng

14195 Front Assy- Tufway Frst

15765 Front Assy- Tufway Dgry

16546 Front Assy- Tufway Yell

19375 Front Assy- Tufway Red

21107 Front Assy- Tufway Pink

22694 Front Assy- Tufway Pp Dblu

23478 Front Assy- Tufway Lgry

24138 Front Assy- Tufway Prpl

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123

R
E

ST
R

O
O

M
S



Great Lakes
Paul Jongert
763-519-6546
paulj@satelliteindustries.com

Midwest
Jeff Sprenger
763-519-6527
jsprenger@satelliteindustries.com

Northwest
John Sprenger
763-519-6544
johns@satelliteindustries.com

Northeast
Joshua Carmichael
574-350-2162
joshuac@satelliteindustries.com

Southeast
Lance Branan
763-519-6541
lanceb@satelliteindustries.com

Southwest
Tim White
763-519-6543
timw@satelliteindustries.com

South Central
Ryan Foley
763-519-6526
ryanf@satelliteindustries.com

Canada
Jerry Graves
763-519-6524
jerryg@satelliteindustries.com

International
Michael Pederson
763-551-7237
mikep@satelliteindustries.com

satelliteindustries.com  |  parts.satelliteindustries.com  |  information@satelliteindustries.com  |  1.800.883.1123




